DRILLING RECOMMENDATIONS

Do not install Devialet Dione on a wall that is not indicated on this page.

1 — Walls made of solid material or concrete blocks:

2x Dowels 5/16" x 2-1/4" 2x Screws 3/16" x 2"

Drilling depth (minimum): 2-3/8" Screw head diameter < 15/32"
Screw head thickness < 15/64"
2 — Plasterboards:

2x Dowels 3/8" x2" 2x Screws 3/16" x2"

m==N b ]

Screw head diameter < 15/32"
Screw head thickness < 15/64"

3 — Walls made of solid wood:

Do not use dowels 2x Screws 3/16" x2"

Drilling depth (minimum): 2" Screw head diameter < 15/32"
Screw head thickness < 15/64"

SAFETY INSTRUCTIONS

To avoid the risk of falling, fire and electric shock, please make sure to read the following instructions carefully.
Any unauthorized modification could compromise your safety and normal operation of the unit.
If you have any problems, please consult an expert. For your safety, make sure an isolating device (switch or circuit breaker) is installed and easily accessible.
In the event of a lightning storm, turn off the power.
Make sure that your electrical installation complies with all applicable electrical standards in your country.
Make sure the wall on which DEVIALET DIONE will be installed is flat, smooth and vertical.
Make sure that the wall on which the sound bar will be installed is undamaged, and that it is capable of supporting 20 kg per mounting point.
For each type of bracket, use the screw+dowel combination shown in this guide.
When drilling the wall, make sure the drill bit is the correct diameter and suitable for the bracket.
Be sure to properly fix the screws the to the wall for optimal support.



RECOMMANDATIONS DE PERCAGE

Il n'est pas recommandé d'installer Devialet Dione sur un mur qui n’est pas indiqué sur cette page.

1 — Murs en matériau plein ou en parpaing béton :

2x Chevilles @8 x 52 mm 2x Vis @5 x 50 mm

Profondeur de percage (minimum) : 60 mm Diamétre tete de vis < 12 mm
Epaisseur de la téte de vis < 6 mm

2 — Plaque de platre :

2x Chevilles @10 x 50 mm 2x Vis M5 x 50 mm

= b M

Diamétre téte de vis < 12 mm
Epaisseur de la téte de vis < 6 mm

3 — Murs en bois massif :

Ne pas utiliser de Chevilles 2x Vis @5 x 50 mm

Dasetssresssesssressnsssesssee (JHI)

Profondeur de pergage (minimum) : 50 mm Diametre tete de vis < 12 mm
Epaisseur de la téte de vis < 6 mm

INSTRUCTIONS DE SECURITE

Pour éviter tout risque de chute, incendie et électrocution, veuillez vous assurer que les instructions suivantes sont bien comprises.

Toute modification non autorisée pourrait compromettre votre sécurité ainsi qu’une utilisation normale de I'appareil.En cas de probléme, veuillez consulter un expert.
Pour votre sécurité, assurez-vous qu’un dispositif de sectionnement (interrupteur ou disjoncteur) est installé et facilement accessible. En cas d'orage, couper le courant.
Assurez-vous que votre installation électrique respecte toutes les normes électriques applicables dans votre pays.

Assurez-vous que le mur sur lequel Devialet Dione sera installé est plan, lisse et vertical.

Assurez-vous que le mur sur lequel la barre de son sera installé est non détérioré, et qu'il est capable de soutenir 20kg par point de fixation.

Pour chaque type de support, utilisez la combinaison vis+chevilles indiquée dans ce guide.

Au moment de percer le mur, assurez-vous que le foret est au bon diamétre et adapté au support.

Veillez a correctement visser les vis sur le mur pour assurer le maintien.



BOHREMPFEHLUNGEN

Montieren Sie Devialet Devialet Dione an keiner Wand, die nicht auf dieser Seite angegeben ist.

1 — Wande aus massivem Material oder Betonbldcken:

2 Duibel, 8 x 52 mm 2 Schrauben, 5 x 50 mm

Mindestbohrtiefe: 60 mm Schraubenkopfdurchmesser < 12 mm
Schraubenkopfhéhe < 6 mm
2 — Wande aus Gipskarton:

2 Dibel, 10 x 50 mm 2 Schrauben, 5 x 50 mm

== [ [

Schraubenkopfdurchmesser < 12 mm
Schraubenkopfhéhe < 6 mm

3 — Wande aus Massivholz:

Keine Dibel verwenden 2 Schrauben, 5 x 50 mm

[D TRttt eiisiny. M/JP?B:H

Mindestbohrtiefe: 50 mm Schraubenkopfdurchmesser < 12 mm
Schraubenkopthéhe < 6 mm

SICHERHEITSHINWEISE

Um Herunterfallen, Brénde oder Stromschlége zu vermeiden, lesen Sie sich bitte die folgenden Hinweise sorgfiltig durch.
Jede eigenmachtige Modifikation des Geréts kann Ihre Sicherheit und seine Betriebsfahigkeit beeintrachtigen.
Falls Probleme auftreten, wenden Sie sich bitte an geschultes Fachpersonal.
Sorgen Sie fiir Ihre Sicherheit, indem Sie eine einfach zugéngliche Trennvorrichtung installieren (Schalter oder Trennschalter).
Unterbrechen Sie die Stromversorgung bei einem Ungewitter.
Stellen Sie sicher, dass die elektrische Installation alle geltenden elektrischen Standards in lhrem Land erfillt.
Stellen Sie sicher, dass die Wand zum Anbringen von DEVIALET DIONE eben, regelmaBig und senkrecht ist.

Stellen Sie sicher, dass die Wand fir die Montage der Soundbar unbeschadigt ist und mit 20 kg pro Montagepunkt belastbar ist.
Verwenden Sie die in dieser Anleitung angegebenen Schrauben-Diibel-Kombinationen fiir die verschiedenen Befestigungsarten.
Stellen Sie beim Durchfiihren der Bohrungen sicher, dass der verwendete Bohrer tiber den richtigen Durchmesser verfligt und fiir die Befestigung geeignet ist.
Befestigen Sie die Schrauben ordnungsgemaB an der Wand, um den optimalen Halt zu gewahrleisten.



RECOMENDACIONES DE PERFORACION

No instales Devialet Dione en un tipo de pared que no esté indicado en esta pagina.

1 — Paredes de material sélido o bloques de hormigén:

2 tacos de 8 x 52 mm 2 tornillos de 5 x 50 mm

Profundidad de perforacién minima: 60 mm Didmetro de la cabeza del tornillo <12 mm
Espesor de la cabeza del tornillo <6 mm
2 — Paredes de placas de yeso:

2 tacos de 10 x 50 mm 2 tornillos de 5 x 50 mm
H:E‘\ D ﬂ

Didmetro de la cabeza del tornillo <12 mm
Espesor de la cabeza del tornillo <6 mm

3 — Paredes de madera sélida:

No utilices tacos. 2 tornillos de 5 x 50 mm

Profundidad de perforacién minima: 50 mm Didmetro de la cabeza del tornillo <12 mm
Espesor de la cabeza del tornillo <6 mm

INSTRUCCIONES DE SEGURIDAD

Para evitar el riesgo de caidas, incendios y descargas eléctricas, lee atent te las sig tes instrucciones.
Cualquier modificacién no autorizada podria poner en peligro tu seguridad y el funcionamiento normal de la unidad.
Si tienes algln problema, consulta a un experto.
Para tu seguridad, asegurate de que haya un dispositivo de aislamiento (interruptor o disyuntor) instalado, y que sea de facil acceso.
En caso de tormenta eléctrica, desconecta el dispositivo de la alimentacion.
Asegurate de que tu instalacion eléctrica cumple con la normativa vigente en tu pais.
Comprueba que la pared en la que vas a instalar DEVIALET Dione es plana, lisa y vertical.
Verifica que la pared en la que se instalara la barra de sonido no esté dafiada y sea capaz de soportar 20 kg por punto de montaje.
Para cada uno de los tipos de soporte, utiliza la combinacion de tornillos y tacos indicada en esta guia.
Antes de taladrar la pared, comprueba que la broca tenga el didmetro correcto y sea la adecuada para el tipo de soporte que vas a taladrar.
Asegurate de fijar correctamente los tornillos a la pared para un soporte éptimo.




20

theLEW

BNHFRE Dione REAERHFAATRATRERAE L.

1 — BRSO MRER B BB H AR R R e
2Xx #E£T 8 x 52mm 2x #2£7 5 x 50mm

R/NEFLRREE: 60mm HETEZ < 12mm
H2ETSLER < 6mm

2—ABWm:
2x #E£T 10 x 50mm 2X #24£T 5 x 50mm

= b

2ETERR < 12mm

IRETSLE R < 6mm
3 — EARIEEE:
1B ID1E ST 2x #8257 5 x 50mm

B/NRFURE . 50mm H2ETHR < 12mm
BETSLER < 6mm

] LR
L&t
HBEREE . NRAE AR, ESMFREIEN TR,
(EAIARE AR A AT BB RGN T2 FHE &R ER TiE.
MBEEMER, FERELAL.
ARERN, BHEESENUEREIBEE (FFAKHTHESE) -
MPIBEIEN, EXEHRR.
HRENBSRERAEHEER/ X WETEERAR S E.
S i§Devidletis FLE Dione RETEN B PR TEEIEE Lo
HRZHEEFTESWHIFERTLR, SIRESMAEAT 20 AFNER.
NFEMERPIR, 1ESEARERMRNRETIEETHE .
R EILRY, SRERERERBES LRI,
S EHIRET IEHE B3 E RS R ER .




ErlER
& 01§ Devialet Dione RE&FEREARRMAAEE L

1 — HEREV R K BRI
2 {& 8 x 52mm By E sl 2 {8 5 x 50mm g8 %%

BNEFLEE : 60mm BAABEE K < 12mm
BAATERE < émm
2— ABW:
2 {8 10 x 50mm #y E L $H 2 1B 5 x 50mm gyi844%

== b =

RAAIRELE < 12mm
BHBEEE < 6mm

7{EAENLEH 2 1@ 5 x 50mm B 4%

B/NEFLIRE : 50mm $9 TR EE < 12mm
I2AAGEEE < 6mm

ZERA

BRI  KCTBERER - FF LT ARE TR -
(R R R ENBERT B RENR MY R B ETET -
NRIEEEMMERE - FEAFEAE -

RTEMRE  FRAAMEE (BRAMSERS) BRELESRIFRES -
MBREERT » EHAFMAER -
BRRENERXEFAMEARMENNASRBEREE -

HE{RA§ %22k DEVIALET Dione RS2 fRiFF# - StiFAEE -
TR 4§ 24 sound bar IS EESEIFRE - EBERKBMEAIHEED 204 -
HRESEBENIS  FHEARIEERARRIBA EHES -
EEEE LR MAREENEREREESIR -

RS IR ERREE 2 S EE B REXH -



RUJLTINEZRRITBEDT RN R
COR—=IJICERELTVWALEEC(EDevialet DioneZERELHWTLEIWL,

1-WERMELIEFV V) - FROEE::

8X52mmAR2EK 5X50mm= 2K
|D YV Yy vy, Tit— B:U
TRDFEE 160mmid E FUBBERI2MmKE
o FUBEEET6mmMAET
2—-f/ER—K:
10X 50mmA7R2A& 5X50mm= 24

= [ e
X CEERL2mmEKHE
X PHEET6MmMEKE

3 —FEEAMBDEE:

ARISEALBVTEE W 5X50mm=3 274K

TNDES 50mmd E FUBEBERI2ZMmMRH
FUBEEI6mmAEKH

T2 EDER

BT KK BEORRENILT S5 UATDETE SERAEIW,
FESER I —DREBLUANEDERBREFIRRZBEENLHDET,
FIRAN BOE LTS BPIEEICTHEAIET L.

REDT-DEWEE (RTyF IL—A—F) HRBEIN ICICERATIZMNBICH D MR LTZE L,
BENRELTVBHBEICIIEBREY>TIET L,
EFTOBRRFE N ENOBIRBRITEEZBLIDDOTHB L EZRRBLTIET L,

Devialet DioneZEE|CERE T 315013 FSTHESN D DEEREICKRBEL T,
YOVRN—ZREY BEICREI B EEORD A IFUBEZNENI20kgDERICTHASNBZEZRIRLTIEEL,
BIZTYMIDEERARITRLTVREBEDDR DL AREHALTIEE L,
BINERIFREFIR RULEYROBERD TSy M L TELGEYI TH B e 2BRL TS,
LomDEX 2378 A VIFEICIELKEEL TR T,



_ _
S =9 X3

0| H|O|X|0f| HZEIX| %2 ¥0f|= Devialet Dione2 Mx|5IX| OFAA|L.

ate o
2x LEAF5 x 50mm
LIAF 02| 2F < 12mm
LIAF 2] S| < 6mm
2x =2 10 x 50mm 2x LIAF5 x 50mm

—— b
LIAF 2| ZE < 12mm
LIAF 2| S < 6mm

T AR 2K 2x LEAL5 x 50mm

Z|A &2 A9 210|: 50mm LEAF 42| 1A < 12mm
LIAL O{2| S| < 6mm

otX X|&l
S IPNES
2, six) o 2| 918 WRIsh| 218 Che XIES F2 27 2o HAIY HIEhLICE
SEFHEE AR OIS SIBIBHN 71710l HY HES WY & UBLICE PEOR S L FI0| obH U HAHRl HE0 24 4 2

EX7EJAoH MBIt Hol5tM|L.
QIS Qla HA HRI(ALIR = 8|2 X7 ()7t HX|=|0] QL1 FHIZ0| OISHK| EQISHHAIL.
HE G A mis HRlg Ny
7| Quvtsig 2710 RE HI| #ES E4chsA| EelstdAlR.
DEVIALET Dione2 &X|& H0| HHstn 0j112{R0{ Z[QIX| SRISHYAIR.
AM2E HHS MX|E Ho| 24X §Ih=X], HX| XEY 20kgS XWE 4= A=K EQl5HA L.
a2 ZREE & HYMO| QHHEl LIACIE ZEHS ARSHA|7| HHELICE
93 £3 ujf, H|EQ| ZZo| FEStD 2atlo] XEtstX| 2olsth Q.

E[Ho| X|X|H 2 2ol LIALS Hofl M= Dgsior ghct.



